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1. Answer the following questions in not more than 20 words each.
Each question carries 2 marks.

frafataa § ¥ w3 9 w1 W sfuswad 20 v § Al | 73 F
WA 2 3% HT R
(i) What are primary data ?
| wiafisd 5w F R ?
(ity How statistics is useful for insurance companies ?
st wetEl ¥ o witers! {69 yor I § 2
(iii) What is frequency disrtibution ?
agfa s wn ¥ 2
(iv) What Harminic mean is used ?
TUCHF WL &1 W4T F&l H4d § ?
(v)  State two objects of tabulation.
AOiTs ¥ 3 3T SaEd |
(vi) What is class limits ?
O widmd e ¥ ?
(vil) What is the difference between absolute and relative measures
of dispersion ?

frdey wd AR sTufetor & A ¥ /1 SRR R 7



(viii) Find out coefficient of variation, if :

(ix)

(x)

(1)

(ii)

(i1i)

(iv)
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Mean (X) = 30; Standard deviation (o) = 15.94

Te=or o §@a wisE, afg

=R weE (X)) = 30; mf‘aam(a)_lsw '

What is interpolation ?

HTTVH 71 § ?

If two regression coefficients are 0.8 and 0.6, find the value
of coefficient of correlation.
ﬂﬁﬁmwosammﬁ?hmmwm
A Fd iR |

What is an inclusive series ?

oA Soft Rl Fea § 2

Explain four functions of statistics giving with examples.
wifer®t & f=l ar =l =1 3 ufed Tagmsd

Write, under which conditions Newton’s Advancing Difference
Method of interpolation can be used ? rtuonline.com
424 &1 W srafafy & wam foea wdl & qu e = fa
o, HAT ¢ ?

The position of six months profit and loss related to a company
is as under :

Month Profit or Loss (Rs.)
April 500

May | ' 450

June Zero

July - 100
August -200
September 5,000

Calculate Range and its coefficient.

U FEE @ gEiad B 4 $ AN @ e e oyer @
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(v) How many different groups of 3 males and 3 females can be

formed out of 12 males and 15 females ?

12 g&81 3R 15 ofeensil ¥ & 3 o9 3R 3 wfeenstl & fHa

Ar-fy=1 e S99 ST 9ad & ? rtuonline.com

PART-II (DESCRIPTIVE)
Maximum Mark : 60

Attempt three questions, selecting one question from each Section.,
Each question carries 20 marks.

Y WUS | T&F Y9 &1 T4 Hid §C F @ 9 & IAT
AT | Ul WA 20 AF FHT L
Scction-A (@IE-H)
3. “Statistics is not a science, it is a scientific method ™ Discuss critically,
explaining the scope and limitations of statistics. rtuonline.com
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4, Calculate mean, median and mode :
Profit or Loss ' No. of firms

(Rs.)

3,000 to 4,000 6

2,000 to 3,000 10

1,000 to 2,000 15

0 to 1,000 7

-1,000 to O 6

-~2,000 to 1,000 5

-3,000 to -2,000 4

-4,000 to -3,000 7

frefafaa @ e, aws 3R Jfass 1 o #1669 -

IR BAIES wH] F1 9=
(%.)
3,000 § 4,000 6
2,000 ¥ 3,000 10
1,000 ¥ 2,000 15
0 ¥ 1,000 7
-1,000 8 0
Section-B
(wuz-w)

5. Calculate the Fisher’s Ideal Index No. from the following data :
- Articles 2010 2011



(b)

Exp. Price Exp. Price
(in Rs.) (in Rs.) (in Rs.) (in Rs.)

A 300 10 150 10
B 400 8 250 25
C 420 7 440 40 20
frafafiaa avsl @ fRyR & eyl gawi® Ht 7o FifAd -
a-@f{" ' 2010 rtuonline.com 2011 '
D Bl g kSl
(5. 9) (%. #) (5. #®) (%. H)
A 300 10 150 10
B 400 8 250 25
C 420 7 440 40

Calculate coefficient of standard deviation from the following data

rtuonline.com

Marks, in more than No, of students
20 2
80 6
70 11
60 18
50 20
S SV ; . _?ﬁ Y .
H+, 9 Afgs BEL & T&A
90 2
80 6
70 1.
60 18
50 20
Calculate the Rank coefficient of correlation :
X Y
75 120 _
90 135 rtuonline.com
96 150
70 115
60 110
80 140
82 145

50 100 8
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X Y

75 120

90 135

96 150

70 115

60 110

80 140

82 145

50 100 8

\ Section-C (@UE-W)
Define regression. Why are there two regression lines ? Under what

conditions can there be only one regression line ? 20
A HY aftvm Sl e # E] @ & o ® 2
wfifeafadl ¥ Faot T 7 TEOTE @8 9l @ ? 20

What is meant by interpolation 7 What are the assumptions on
which on which methods of interpolation are based 7

O Q 39 F1 GUA & 2 a0 i fafean f&a wransi
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Six persons enter a railway compartment in which there are nine
seats. In how many ways can they take their places ? It there are
only 8 seats for them, is there any changc in the number of
arrangements 8
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